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I Specific prohibitions and culpability for m »a vis-a-vis m»y
a  Rpma-v. 1extends nyay Mo to m 22
b Challenge: we learned that from nRr% (above - R"n1x¥n)
i Answer: 31 covers “their” m»y, w’R W& extends to a married Jewish woman (e.g.)
1 Support: as per 20 — if the 171 has relations with an 587w may, he is judged as per Y8 177
2 Practical application: requirement of 17y (7”1), proper n>1y and nXInn
(a) Challenge: why should the threshold be higher there?
3 Rather (72m17 73): application to noyIRnN 1Y), which isn’t in their system —judged n%poa as Hrw
(a) Challenge: do we judge regular w& nwr with their system?
(i) w1292 if the 1”2 had relations with a no1RNPN NIYI — NYpo; if a married woman — pin
(ii) Answer (»7277): W& NWR here refers to a woman who had nomn but wasn’t yet n9p11 —judged as YR
(b) Supportive 1722 "1 — any MY for which Y%w are killed, 1”1 are forbidden; n'nan — there are a lot of
m»y for which 987w isn’t killed, but 1”1 are warned
(i) And:if he has nra with YR1w m»y —judged as YRw; if with 3”2 m»y —judged as 12 -
1. Only application: NOMRNN NI
2. Question: why not include also one who had namn w/o nxa (yet)
3. Answer: authored by nwian »271 Rin — all 3”2 MmN are pan, same as YRV’ YR NWR
(ii) Challenge to »”1above: X712 where he opines that some nin»> »a»n are forbidden to 1”2
1. Resolution: n" following 8™, who applies v. 2 to mm3 »arn;
a. And: the earlier Rn»1 is 0" following »"3, who applies v. 2 to 7”an 27n only
i.  And:both agree that 131, 9181 and bestiality are forbidden from Tnx...pam
4 Revisiting the 8177772 (above):
(a) »™
(i) ran father’s sister
1. Reason: can’t be “father” — that’s covered by pam (not 1o1)
a. And:can’t be “father’s wife” — that’s covered by 1mwR (177an nwr 8%)
b.  Challenge: perhaps it refers to »ar nmn INRY Yar nwR
c. Answer: parallel with 1R (in poa); in 1\, it is independent of mwr
(ii) & mother’s sister
1. Reason: can’t be “mother” — covered under INWRA (172N NYWRA RDY)
a.  Challenge: perhaps it extends to nrn»m INKY YIrR NWR
b. Answer: parallel with vax; just as it isn’t really 1ax, so too it isn’t really 18
(b) »™r
(i) raw. father’s wife (can’t be “father” as above)
1. Challenge: can’t be “father’s wife” as that is also covered under 177an nwR X5 MVR
a. Answer: refers to 1R nWR after death of father
(ii) 708 mother
1. Challenge: covered under »an nwR 89 MYR
a. Answer: refers to his mother who was never married to father (e.g. 1n01IRN 1N0R)
(c) Point of dispute:
(i) A”7sees symmetry between 1ar:nR as central
(ii) »~r prefers to reckon real m»y, not just IRW (e.g. aunts) over symmetry
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(d) Challenges:

(i) v.3: wasn’t she his paternal and maternal aunt?
1. Answer: she was only a paternal aunt

(if) v.4:implies that his mother’s daughter is n710R (as per 8™)
1. answer: entire presentation is inexact — she was his niece, but he was explaining that his relation-

ship to her was through his father, not his mother (370 was only a paternal brother)

(iii) v.5:1is applied to yp marrying his sister; 0Tx could have married his daughter, but wanted the world

to be built on "1on”

II  Misc. laws of m 2

a

b

A slave: may marry his mother and his daughter
i Reason: he is no longer a m-j3, nor is he fully a YR yet
If: a m1 12 assigned a nnaw as common-law wife to his slave, and then had relations with her — nron a7n
i Note: she is considered his wife when she is called thus; considered “free” when she uncovers her hair in public
If: a m-12 has relations with his wife 12775 85w, nron 20N
i Reason:v.2—pan
1 Challenge (x¥27): nothing is executable for 3”2 which isn’t convictable for Yx7v
il Rather: if a m-12 has n2773 8YW NRa with another’s wife, not liable —
1 Reason: v.2 requires a violation of 172an nwx to be pam
~22217 77 if @ M 12 strikes a Y87, NN 270, as per v. 6 (the »x¥n was nmn 27N for striking the YRw?)
i Tangential: if a n 12 slaps the face of a Y&7w, it is like slapping the face of the n1>v, as per v. 7
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